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Question Paper Code : 7484
M.A. ( Semester-IV ) Examination, 2018

ECONOMICS
[ Third Paper ]

( Development Economics )
Time : Three Hours] [Maximum Marks : 70
Note : Answer five questions in all.Question No.1 is compulsory.

Besides this, attempt one question from each unit. Marks
for each question are indicated against it.
dqy ik¡p iz'uksa ds mÙkj nhft,A iz'u la- 1 vfuok;Z gSA blds

vykok] izR;sd bdkbZ ls ,d iz'u dhft,A izR;sd iz'u ds vad

fufnZ"V gSaA

1. Explain the following : [3x10=30]
fuEufyf[kr dh O;k[;k dhft, %

(a) Vicious circle of poverty
nfjnzrk nq'pØ

(b) Neutral Technical Progress
fLFkj rduhdh o`f)

[P.T.O.]
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(c) Economic growth and Economic development
vkfFkZd o`f) ,oa vkfFkZd fodkl

(d) Total Factor Productivity
dqy lk/ku mRikndrk

(e) Role of Human Capital in economic development
vkfFkZd fodkl esa ekuo iw¡th dh Hkwfedk

(f) CRRA utility
CRRA mi;ksfxrk

(g) Relative inequality
lkis{k vlekurk

(h) Social Dualism
lkekftd }Srokn

(i) Technical Progress Function
rduhdh izxfr Qyu

(j) Regional Cooperation and Integration
{ks=h; lg;ksx vkSj ,dhdj.k
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UNIT-I @ bdkbZ&I
2. Critically analyse the Fei-Ranis model of economic

growth in a Two-sector Labour surplus economy. [10]
f}%{ksf=; Je cpr vFkZO;oLFkk ds lanHkZ eas vkfFkZd o`f) ds

Qs&jSfu'k ekWMy dh vkykspukRed O;k[;k dhft,A

3. What do you understand by social dualism ? Explain its
causes and implications for the process of economic
development. [10]
lkekftd }Srokn ls vki D;k le>rs gSa \ vkfFkZd fodkl dh

izfØ;k esa blds dkj.kksa ,oa izHkkoksa dh O;k[;k dhft,A

UNIT-II @ bdkbZ&II
4. What do you mean by neutrality of technical progress ?

Critically examine various classifications of neutral
technical progress. [10]
mnklhu rduhdh izxfr ls vki D;k le>rs gSa \ mnklhu

rduhdh izxfr ds fofHkUu oxhZdj.kksa dh vkykspukRed O;k[;k

dhft,A

5. Critically analyse various approaches of growth
accounting. [10]

[P.T.O.]
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laof̀) ys[kkadu dh fofHkUu fof/k;ksa dh vkykspukRed O;k[;k

dhft,A

UNIT-III @ bdkbZ&III
6. What is optimum growth? Explain the optimizing

behaviour of households in the Ramsey-Cass-
Koopmans model. [10]
b"Vre lao`f) ls D;k rkRi;Z gS \ jSels;&dSl&dwiekWUl ekWMy ds

?kjsyw {ks= ds vuqdwyre O;ogkj dh O;k[;k dhft,A

7. How is the AK model different from Solow model ? Explain
in detail the predictions about growth given by the AK
model. [10]
,-ds-ekWMy] lksyks ekWMy ls fdl izdkj fHkUu gS \ ,-ds ekWMy

}kjk o`f) ds fy, dh xbZ Hkfo"; dFku dk lfoLrkj o.kZu

dhft,A

UNIT-IV @ bdkbZ&IV
8. "Integration into the world economy has proven to be a

powerful instrument for countries to promote economic
growth". In this context discuss the ways in which
international trade affects economic growth. [10]
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^^fo'o vFkZO;oLFkk esa ,dhdj.k jk"Vªksa dh vkfFkZd of̀) djus esa

,d 'kfDr'kkyh lk/ku fl) gqvk gSA** bl lanHkZ esa mu rjhdksa

dh O;k[;k dhft, ftuls vUrjkZ"Vªh; O;kikj vkfFkZd o`f) dks

izHkkfor djrk gSA

9. Describe Kuznet's inverted-U hypothesis. Discuss the
conceptual merits and limitations of this hypothesis for
developing countries. [10]
dqtusV~l dh foykse&;w ifjdYiuk dh O;k[;k dhft,A bl

ifjdYiuk dh fodkl'khy ns'kksa ds fy, vk/kkjHkwr xq.k ,oa

lhekvksa dk o.kZu dhft,A

----- x -----
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